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1. Write the Roman numeral for the following Hindu–Arabic numerals. 
a) 78   _______   b) 55   _______ 
c) 121 _______   d) 345 _______ 
e) 298 _______   f)  449 _______ 

g) 190 _______   h) 210 _______ 
i) 320  _______   j)  83  _______ 

 
2. Write the Hindu–Arabic numeral for the following Roman numerals. 
a) LXX  _______ 

b) XIV  _______ 

c) CXCV _______ 
d) CDX _______ 
e) CCIX _______ 
f) CLXIX _______ 

g) CDXXVII _______ 
h) CCCLXXV _______ 
i) DVIII _______ 
j) XCVI _______ 
 
3. Mention which of the following are meaningless; otherwise write the corresponding 
Hindu-Arabic numeral. 
a) IC _____________   b) CI _____________ 
c) LD _____________   d) CD _____________ 

e) DD _____________   f) CCCLIX _____________ 
g) CCCVII _____________  h) CXXXXV ____________ 
i) LLX _____________   j) VD _____________ 
 
4. Insert the appropriate symbol >, < or =. 
a) XLIII __________ LXIV 
b) CXLIX __________ CLXXXIX 
c) XCVI __________ LXVI 
d) CDLII __________ CDLIII 

 
5. Arrange the following Roman numerals in ascending order. 
a) XXXIII, XLII, LV, LIX 
_________________________________________________________ 

b) XCV, XCII, CIX, CI 
_________________________________________________________ 

c) CCCIX, CCCXX, CCCVIII, CCXL 
_________________________________________________________ 
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1. Which is greater? 
 

a) 0.3 or 0.003 b) 0.7 or 0.4 
c) 0.2 or 0.22 d) 1.045 or 1.5 

e) 2.996 or 2.3 f) 4.7 or 4.61 
g) 0.1 or 0.0001 h) 0.9 or 0.99 

 
2. Express as rupees using decimals. 

 
a) 8p  ____________ 
b) `2 20p  ____________ 
c) `82 50p   ____________ 

d) 460p  ____________ 
e) `7 50p  ____________ 

 
3. Express. 

 
a) 2 cm in m and km ________ _________ 
b) 25 cm in m and km ________ _________ 

c) 35 mm in cm and km ________ _________ 

d) 400 gm in km ________ _________ 
e) 2560 gm in kg ________ _________ 

 
4. Solve and match the integers in column 1 with column 2. 

 
a) (-6) × (10)                                   i) (-24) × (-8) 
b) (+12) × (-6)                                ii) (-9) × (+5) 
c) (-8) × (-8)                                   iii) (-12) × (–4) 
d) (+11) × (–19)                             iv) (+18) × (+6) 

e) (–12) × (-16)                               v) (-39) × (+3) 

 f) (+9) × (+12)                              vi) (-27) × (-3) 
g) (-9) × (-9)                                  vii) (+2) × (0) 
h) (–13) × (-7)                               viii) (+15) × (-4) 

 i) (-12) × (11)                                 ix) (+6) × (-22) 

 j) (-14) × (+8)                                 x) (+7) × (+13) 
k) (+13) × (-9)                                xi) (-4) × (+28) 

l)  (-15) × (-8)                                 xii) (–9) × (+8) 

m) (+3) × (-15)                               xiii) (12) × (10) 

  n) (+6) × (+8)                                xiv) (–15) × (+2) 
 o) (+9) × (0)                                   xv) (+16) × (4) 

  p) (+6) × (-5)                                  xvi) (+209) × (-1) 
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